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GEOGRAPHY
( Discipline Specific Elective )
( For Non-Honours )
Paper : DSE—2
( Economic Geography )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. fot Spii were farp e fon 1x8=8

Answer the following as directed :

(@) WTOR 3o JH1 [ 2
What is the full form of WTO?

(b) RTAR TR ____ I A

(180 IR 27 3 )

Isodapanes’ are the lines of equal _____
cost.

(Fill in the blank])
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(2)

(c) MR iz IR AbRSLT ST *m &2

Which is the most important crop in
commercial grain farming?

(d) T mEa A TScers/ T8 TRy @k
St |
(o= Seachl AfR Berean)
Temperate/Tropical climate is more
suitable for fishing. )
(Choose the correct answer)

e) TR @l IR ITR 24N W Tmz

(3 37 R 771)
The first stage in the change of wood to
coal is termed as

(Fill in the blank)

() SRS FE IS FKEF IR 77 Seorm
TR

Which State is the largest producer of
cotton textiles in India?

(g) SRS WRE ‘R Sedmm
AR T 2

Which company is the largest producer
of petrochemicals in India?
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(3)

(h) SIEEISE AR THS PR o[l SmeRE
CPPTREE 251 TR 3T 1

(% (7 SRe% o)

International trade leads to the transfer

of technology from a developed to a
developing nation.

(Write True or False)

2. B ORI R (2afSchr 150 *rE foego) : 4x4=16
Write short notes on (within 150 words
each) :

(a) CoETRIFRT
Globalization’
(b) @R T fage
Weber’s locational triangle
(¢ o= i IR
Intensive subsistence farming
(d) o IF NS R
Information and communication
technology

o) R @1 SiR6R T B (afechr 300 e foev)

Answer any four of the following (within
300 words each) :

3. Sftafer pomer A o | WA weane wiemm
AL IR N i Raa siamsan <41 |
2+12=14
Define Economic Geography. Discuss the
approaches to the study of economic

geography.
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(4)

4. F Y PR T SGOW b FACeoTI [eas
SISICERT | 14

Critically examine von Thunen’s theory of
agricultural location.

5. @4 IR I QA TR IFEFE w0
TR g B 72 2+8+4=14
What is plantation agriculture? State its
characteristics. What are its problems?

6. TRIN wwE’ IF QWA? REAT IR IRIA
SEPyd e Jcemsn 40 o 2+12=14

What is a ‘manufacturing region’? Discuss
the major manufacturing regions of the
world.

7. RRA ore ITERR Twe b gemree Resw
SIIRCA ¢ 14

Give a_comparative analysis of the different
modes of transportation.

* %k %
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